1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg,
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Note: Answer any FIVE full questions, choosmg ONE full question from each module.
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Moduleﬁﬁl

What is Data Communlcatlon? LISt ‘and explain the ﬁve components of Data

Communication system.
Explain OSI reference model w1th neat diagram.

What is Transmission Impa
What is Line coding? Outline the following code.u

technique:

1) 1111 1111
ii) 0000 0000:
iii) 0011 001
iv) 01010101

Explain the technlque of PCM by, taking amplitude -20 and +20 and levels = 8.
Explain: different transmission modes with diagrams. . %

With a neat diagram, explain FDM multlplexmg technlque

What is Switching? Explam datagram network and virtual-circuit ne'works
@

Explain with an example ofblock ¢
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Module-3
oding method of error d ectlon and error correction.
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Explain smp and wait ARQ pirotocol with neat dlagram

Explam frame format and- tranmtlon phases of point to point protocol.

L BN Module=4
L Wlth flow diagram, hexplam the working(ofiC CSMA/CD.
b.+ Explain the followi g‘éhannehzatlon techmques i) TDMA ii) CDMA.
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Explain the addressmg mechanﬁm”bf IEEE 802.11.

What are the different categones of standard Ethernet explain each?

Module-5

Explain different categor:,‘ S of satellite networks.
With neat diagram explam [PV4 header format diagram.
Write a note on cellular system.

Explain with ne" dlagram frame format of IPV6 datagram.

OR

nt? What are the causes of Impairments?
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Explam three different strategies devised by IETF to help the transition from IPV4 to IPV6.
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